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1101 | K48 dbimE 20 200 0 200 10 0 0 0 1512 0 1080
& 20 200 0 200
NB|FEFEAS [EE 182 1820 0 1820 10 0 0 0 2052 0 432
RiF 65 650 0 650 10 0 0 0 1296 0 324
GhH 247 2470 0 2470
11214 [ED) 1 10 0 10
1201[83% % 30 450 0 450 15 0 0 0 972 0 648
& 30 450 0 450
1203[F ¥Ry [RE 80 800 0 800 10 0 0 0 1512 0 972
ED 276 3260 0 3260
1207[FE& GH 1340 134 134 0
1209 B & B 2 6 0 6 3 0 0 0 0 1728 0
GhH 2 6 0 6
1301 |FF ZR 40 200 0 200 5 0 0 0 2160 0 1944
#mE 22 88 0 88 4 0 0 0 2160 0 1404
HmE 19 95 0 95 5 0 0 0 2592 0 1728
(&) 87 407 0 407
1311[FRE EE 14 84 84 0 6 2160 0 1296 0 0 0
EES 96 384 0 384 4 0 0 0 1566 0 1296
[E)) 110 468 84 384
1321 [HK BiE 140 700 0 700 5 0 0 0 2538 0 2268
(&) 140 700 0 700
1331 | MM FEH» [&0) 15 150 0 150
13B51[E—<>  [XH 1290 194 0 194 0.15 0 0 0 0 81 0
(&) 1290 194 0 194
1353| Tk (&) 120 12 0 12
1355|455 ERE 400 40 0 40 0.1 0 0 0 0 81 0
(D) 440 44 0 44
1361|R4ba>  |Z5N 10 50 0 50 5 0 0 0 0 1426 0
[E)) 10 50 0 50
1371 L1 x5 30 90 0 90 3 0 0 0 1620 0 1296
Eh 30 90 0 90
1411 | (&) 154 62 62 0
1541 [ E& EE 277 2770 0 2770 10 0 0 0 1404 0 972
(&) 277 2770 0 2770
1603|)L)— [REH 5 50 0 50 10 0 0 0 0 2916 0
(&) 5 50 0 50
1609|70val)  [EF 15 90 0 90 6 0 0 0 3564 0 3240
(&) 15 90 0 90
1611[LAR f=1od 20 200 0 200 10 0 0 0 1080 0 648
(&) 20 200 0 200
1612| =L 2R |EEF 10 50 0 50 5 0 0 0 1080 0 540
(&) 10 50 0 50
1627[3=k=k  [&JI 90 18 0 18 0.2 0 0 0 162 0 151
S 15 45 0 45 3 0 0 0 0 1728 0
Gh 489 140 0 140
1705| &= = H 720 58 0 58 0.08 0 0 0 119 0 108
=40 3 12 0 12 4 0 0 0 0 5508 0
(&) 723 70 0 70
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1803 | EHEE =) 150 15 0 15 0.1 0 0 0 0 125 0
S 210 42 0 42 0.2 0 0 0 71 0 66
GhH 810 102 0 102
1807|8E =% 150 15 0 15 0.1 0 0 0 0 49 0
f=554 600 120 0 120 0.2 0 0 0 67 0 59
EF 300 90 0 90 0.3 0 0 0 0 59 0
GhH 1050 225 0 225
1809[L&HL EF 250 25 0 25 0.1 0 0 0 0 49 0
(&) 250 25 0 25
* S EEET * 13216 21878 364 21514
221|=2+ 'S 17 170 0 170 10 0 0 0 0 4320 0
ED 17 170 0 170
2616|SYAA GhH 1 3 0 3
2701|7—JLR |53 1 9 0 9 9 0 0 0 0 10260 0
(&) 1 9 0 9
2731|F /K B 50 775 0 775 15.5 0 0 0 6480 0 3348
(&) 50 775 0 775
* S FAET * 137 1911 0 1911




